CALCULUS

The Sigma Notation
NEW




7
0080-1. Compute » In(k) to two
L—A4 decimal places.

QEQV8O—2. Find a polynomial in m that,

™m
for all integers m > 1, is equal to Y (k% + 1).
k=1




9
0080-3. a. Compute > |-k + 8k|.

NEW
k=71

b. Compute — | Y~ k2| +8| Y k|.

0030-4.

NEW

4
a. Compute Z eF to five decimal places.

1=1

3
b. Compute Y e*T1 to five decimal places.

k=0 3




0080-5. a. Compute

NEW

=7

O
Y [e][cos ]

to three decimal places.

9
b. Compute | ) et

(=7

Z cos /¢

=7

to three decimal places.




